EARAROBEEIERT — 2 N— IBISH —F

201378240 (k) 9mEHM1H

m C3m ¥5%3m®L B R
[A&4£] 1% :200,000" ~ 2#%:36,000” ~ 337%&:18,000 ™ . 43&:10,000 57 :6,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
ABIAE .33 _0_o_ . — e (FElR)
ilglgl77nzsy7 B4 s 1(3_3)3 2-2-2-1 | 39.9 2 35) %E%ﬂ
RiAL 3 K—F— BT FUby—3 AEES
3 D 4 6 | TEHE 1:34.1 1-1-1-2 | 40.9| — 1 489 | RFIEAR (EH)
] 4| XFFv > 54.0 ) 45) | BHO
R:Za—A>T5>K B:/—~NILII> b IWF w2
RSN 4 5 | FEREM 1:34.1 5-5-5-5 |40.3| — 5 463 | EEFIR (Em®)
3|5|5 1r7>rar 5.0 (74%) (-2) E%ZE,EU
L:Urh—r BiN—bFTNUZX IV TT— L
S i 5 | MERAF 1:34.3 3-3-4-3 | 40.7| - 8 465 | EEFIEX (EH)
] 2 JIXEE®T I — 54.0 (11/2) (+5) ) rMFPE—-FKIST
Ry IZAELZX Bty Favsh aF JE—
© TS — f 5 | WA 1:34.5 3-4-3-3 |40.9| — 3 495 | FHELWLZEX (FEh)
5(7|7|2%v77 54.0 ) s | AHRS
RNTGHEART )= BTU—bHII—F *3 24545
N 43 | AKiE 1:34.6 6-7-6-7 | 40.5| — 4 426 |EE=E (EEH)
61810/ 77/ V> *— 55.0 (1/2) (-3 | FEHEE
Z:h—> BN Y—T2 Elao e
o= N o s — : —8-8- — RFSFER (FEhH)
71718 ANNTHFINAIN— 4 6 = 1(.13/42.>7 8-8-8-8 | 40.3 10 (4_678) ity
L:2¥v2—H¥d—-ILK BTV LT r— EANILBS S
9 . e HpZ : —6-6- — EmEua (T
8 3| LIS = - 4 3 s 1.(335).2 7-6-6-6 | 41.1 7 (4_656) il i
Lv—ATO— BiILN-I—> #RAEHE IVFCT7—L
Sy — jt 3 | HEEK 1:36.7 10-10-9-9 | 41.7 | — 9 3g2 | WETEXR (EHE)
9 6|~ 54.0 ©) gy | pTO—KS5T
:TEY RT2Z7 BN ALY BEEZX2 9 K
2 PO - 3 | KBKEE 1:38.3 9-9-10-10 | 43.5| — 6 489 | =Sk (k)
1001112 2—278Y v b 5.0 (10) 1) E?J;I';ZA
RNFHEAZT )~y B:3Z270-Y v b FES
® 1—F—@EBIERL
13—7+— 4,9,(2,7),5,10,3,8,1,6
23— — 4,9,2,7,5,3,10,8,1,6
Ja=5= 4,9,7,2,5,(3,10),8,6,1
43—+ — 9,4,(2,7),5,3,10,8,6,1
[ N5
B 9 350M 714K 4-9 170 e E 4-8 300 JEE 4-5-9 640/
B B 9 110M 5-9 320M B = 4-9 400 JEE 9-4-5 3,000
4 130M 4-5 220M B H 9-4 840M
D) 140M

ABICOVWTRDTEEERROODE. TR LIV,




